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i)

ECONOMICS
ARfula
PAPER-I
RAUA-TT

This paper contains fifty (50) multiple-choice questions. Each question carries
two (2) marks. Attempt All the questions

D2l Neuotti A (W0) agfselln usdl B, w35 ane Q(z) AN 8.

oat Uil G avil.

When marginal product of capital is zero, the symmetry of the Law of Variable
Proportions shows that the marginal product of labour will be :

(A) maximum (B} less than zero

(C) equal to zero D) infinite

38l Abid Gedtest i g s, AR WRad-sdlle sigutdasi Relalt ani@l
eald © 3 aud AMid GowigA -

(A)  Hedd : (B) Y1 sl iigg
(C) YU BRANR (D) 2

$9L.

A nuisance good is defined as a good whose marginal utility is :
(A) Zero (B) Negative

(C) Positive (D) Infinite

Guadl axgdl cnval W@ A argHl Axid et ¢

(A) Y @) 2o [Bud

) 4+ D) i

sin 8.

An inferior good has income effect that is :

(A) Positive (B} Zero

(C) Negative (D) Infinite

Gacdl sail arg wR Ay AU

(A) 4+ B) YA

(C)  uat BBua M) A~

sy 9,
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4. On a s.traight line downward sloping demand curve, elasticity of demand :

(A) is infinite (B) is zero
(C) is unity (D) varies from zero to infinity
A dzs eadl xiotedl ALl vk Gy Hiva-l aus -
(A) i siy ® (B) 944 sid 8
© As i B O yell wierd Yol Qalad wy 9
5. The difference between Marshallian and Hicksian demand curves is the :
(A) Substitution effect (B) Income effect
(C) Price effect (D) None of these
weldlur 244 [@sudq HidL a5l 9234+l dsldd -
(A) D AR (B) Uds AR
© [Bxd 2R M unisll i R
9.
6. When Average Cost (AC) is falling Marginal Cost (MC) is :
(A) Also falling (B) Constant
(C) Below the AC (D) Negative
il AN WY (AC) Hadl ¢in 8 cul Aid vy
(B) R uadi (B) Rauz
© AcC A Al @) @ (Bua
sl 6,
7. Edgeworth contract curve is a locus of points where :

(A) MRS, | for the two consumers A and B are equal
(B) MRS, , for A is greater than MRS, , for B
(C) MRS, , for A is less than MRS, | for B
(D) None of the above
[MRS, , = Marginal Rates of Substitution between X and Y]
wogad si2se as s Bigun 9 wul -
() MRS, & Aes 2 A oL HI2 WA
(B s ¥ -l MRS, | s ol 4l MRS, | sdi auid
(C) s A -l MRS, | Ales o i MRS, | sl vl
D) Guzdidl s 4l
i B,
MRS, , = X 211 Y 42l »ao-0 duid €3]
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8. On a rectangular hyperbola demand curve, the total expenditure on the
commodity :
(A) increases with an increase in its price
(B) decreases with an increase in its price
(C) remains the same with an increase or a decrease in its price
(D) decreases with a decrease in its price
dotsiefiy 2»Qaay (rectangular hyperbola) Hidl dsdi arg Gua-l g4 w4 :
a) [Bud aadidl 08 a8 8
B [Bud aadidl 08 42 ©
(© [Bud-l ag-ue 2wl oeadl ol
O [Buq sedi-l wa u2 ©
9. Keynesian Multiplier varies directly with :
(A) Tax rate (B) Marginal propensity to consume
(C) Marginal propensity to import (D) Autonomous export
svaflue dpais
(A) 543U &2 B) qid GUElRt qaRl
(©) A 2wuUd a@n ®) aiud Rula
ad ua Nd Rafad wu 8.
10. If the consumption function is C = 50 + (.75 Y, then the Average propensity
to save function shall be :

50
(A) 0.25+ - (B) 0.75
0.25 50
50 - ——emr 0.25 - —
(©) ¥ D) Y
Guofiol [AfW 2 C = 50 + 0.75 Y, $iU di AIUN «yd aaw [@Qdy :
50
(A) 0.25+ v (B) 0.75
0.25 50
50 - ——— 0.25 — —
(C) &0 7 D) e

29},
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11. The negative relationship between rate of interest and demand for money
is explained by :

(A) Tobin {B) Baumol
(C) Samuelson (D) Marx
1% 3 A Uil Mol aRA-Al e Aeiw

(a) el (B) eli*idl
(€) Ayaun D) sy

LR ANAAUML el B,
12. The money multiplier depends on :

A)
©

Reserve Ratio (B) Currency Deposit Ratio

Excess Reserves to Deposit Ratio (D) All of these

AR J8LS ¢

A)
©

28 ARALMR (B) USS : MG YR
A5 BUBRL : AL JYBNIMR @) 2 W4 aum

Guz ausfd .
13. The trade-off between rate of inflation and unemployment is shown by :

(A) Laffer curve (B) Phillips curve
(C) Kinked demand curve (D) None of these
gollat-ll £ i ARioudl 9+l oiawsts -

(A) s as (B) sldlw as

(C)  $lv3S HiA as @) 2uxidl s R

gt saflaqii 2ud . |
14. The Liquidity trap is a situation in which :

(A)

(B)

(C)
)

The public is prepared to hold any amount of money at a given interest
rate

The public is prepared to hold any amount of deposits with commercial
banks at a given interest rate

The supply of money is constant

The amount of money held by the public remains constant with a change
in the rate of interest

da Ad 2 As A WRafa o i -

(A)
(B)

©
D)

Eco.—I1
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15.  The Transactions motive for holding money represents money :
(A) held as inactive balances
(B) held for taking advantage of market movements
(C) held for future requirements and unforeseen contingencies
(D) in active circulation
el Auxfl s34l ualidl Ane
A -uRid [ABsu Ras <3 _
B) o Jua-uidl aie Gstaar 2 ANa -l
©  odanasll w3lRutd 2 2igne 2usBusar S wslai -uai
D) wRid ulFy wRauw
eald &,
16. Which of the following is a measure of economic development ?
(A) increase in national income
(B) increase in per capita income
(C) increase in human development
(D) Al of the above
(A-unisfl sal 2uls Qs wugs 87
(A) WA 2w qud (B) int€ls shasui quil
©) ndly Qs aaRi M ¥l W aun
17.  Prof. J. A. Schumpeter’s name is associated with :
(A) Stages of economic growth
(B) Big Push theory
(C) Role of innovator in economic development
(D)  Unlimited supply of labour and economic development
WA . A gller o -un e
Ay »ulls Qs dsissi
(B) A&l 4ssi (Big Push)
(© s Qs anadsl oyfiist
D) A Moufd Yasl w®A »ulls Rsy
Wl Asdg 9.
Eco.—II 7
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18. Technological Dualism is a situation of simultaneous existence of two sectors:
(A) With one sector having fixed input coefficients and other having flexible
input coefficients
(B) Both of them having divergent but flexible input coefficients
(C) Both of the them having rigid input coefficients
(D) None of the above
sl gdael wRARaRUL A 8 Reustld As Wl 2Rt & § Ful -
() As Qeudi AN A JYALSL A oflanl AN 2 JRisl S
@) ol Qewedd @Al uig ya 2RLd dRiist
(©) o~ [Qeudtd oS AL QRAIS O
D) il Asuw -l
19. Human Poverty Index is measured in terms of :
(A) Deprivation of life
(B) Basic education
(C) Access to health service and safe water
D) All of the above
iy o ofldl s :
(&) @Al v
B) wug [mew
© 22Uy AaL v Ya weltdl Guasadr
D) Gudl dxH
GLRL MY 8,
20. The labour intensive technique generates :
(A) More output and consumption in the short run
(B) More output and consumption in the long run
(C) Investible funds |
(D) None of the above
Ay qHe dsdls .
(A) &5t duouyi ag Gowed A Guetiddg
(B) dist duouni Ay Gewle 21 Gueiidly
(© s aF U3 dal cising
@) Mgl siS AR
Rl 52 &,
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21. The knife-edge balance in the Harrod-Domar model is depicted by :

(A Gn=Gw =G B) G>Gn>Gw
) G<Gn<Gw D) Gn>Gw>G
835-5113 Mideni 90l w2 UM (knife-edge) Mgart :
A Gn=Gw=G © (B) G>Gn>Gw
(C) G <Gn<Gw D Gn>Gw > G

alat ueldla wu .
22. Many workers have lost their jobs due to installation of computers which they
do not know how to operate. This has caused :

. {A) Frictional unemployment (B) Voluntary unemployment

. (C) Cyclical unemployment (D) Structural unemployment

- sinyerAal wyusell Fuinl sinye: ydiqadl suasd Al dal wai sai
staAaiil is?l gl A edl, 2 RalaA :
@)  almysd (B) ¥R
€y uaBu D) WA

Azt wRRulayd Fule s o,

23.  Merit goods possess characteristics of :
(A) Only private goods (B} Only public goods
(C}) Both private and public goods (D) None of these
qle axgwil :
| (A) s34 P axgyll (B) 5sd wduls axgati
© (ol wdyRs axgatiot @) 2usiedl 21sye «fR
Al @ael qyd 9.
24. Principle of Maximum Social Advantage is given by :

(A) Dalton (B) Musgrave
(C) Mishon (D) Bucannan
Hedd WS swuet-dl Rusn ¢

(A) Sleat (B) uuda
() Hlu (D) 95t

Bl WL,

Eco.—11 9 P.T.O.




25.

26.

217.

28.

Reduction of Fiscal Deficit in India was achieved primarily through :
(A) Reduction in food subsidies

(B) Increasing marginal rates of income tax

(C) More efficient use of financial resources

(D) Reductions in capital expenditure on infrastructure

il wslY iUl w28t yvud

(A)  vUEASIHH] Yas]

(B) 2udasdU-Al AlHid e Qe

(O ~uRisle wa-i- A AASIS Guiay

M) ualda Al 3y8lisne Wil gast

Gl Mkl Sl 2Udl odl,

Fiscal policy influences growth of a country like India through increasing
efficiency in :

(A) Mobilisation of resources (B) Allocation of resources
(C) Utilization of resources (D) Al of these

GURd Fal tudi uwsiflu fa su-ll 2ubs qzA -

@) gl onaedl B) wWa-i-l adyelll

(C)  Wwasi- Guyia-dl O 21 Ad-l

[yl asuat gl > 53 6.

Total revenue from a given commodity tax increases with higher rates of tax
when : _

(A) the demand for the commodity is inelastic

(B) the demand for the commodity is elastic

(C) the commodity is unitary elastic in demand

(D) the supply for the commodity is elastic

el axgni s g 2as 5040 e10 qall WA el o ad B/
BYLR

(A) gl Hia yeuMla €y B) R+l Hid yerula in

©) Rl Mol qus As €l D) agHl Y48l yeu wla iy
According to R.A. Musgrave, objectives of fiscal policy are :

(A) Allocation of resources (B) Distribution of resources
(C) Stabilization D) All of these

2. B HAAAL Hd Yool ASBD Q- Ay

@) Au-didt adagll B) wadi-l st

© Ra2an M) 21 ¥l dum

9,

Eco.—I1 10




29.

30.

31.

“Burden of Public Debt falls not on future generation but on present
generation.” This statement is given by :

(A) Meade (B) A. P. Lerner

(C) Bucannan (D) Musgrave

“aadefRs tarll en el B4l w Al uig wtadll W ¥ ¥43 8.7 2
[Qatq :

(A s B Al ad 3
(C) vt A D) Hua A
2wy 8,

Trade creation with the formation of the customs union refers to :

(A) The movement from the high cost production to low cost production
(B) The movement from the low cost production to high cost production
(C) The movement from high saving to low saving

(D) The movement from low investment to high investment

gsictt-l WAL WY AR, %X w2d

@) G Gowen W dsdl fla Gowed w3 asdl Al

B) fla Gewed vl dsdl G Gewed WA ds-l Al

(©) Gl cad dzsdl «{lfl oy ds-dl afa

@ -l yslisn daedl G yglisel dgl afa

The imposition of a tariff :

(A) adversely affects consumer’s surplus and producer surplus

(B) positively affects consumer surplus and producer surplus

(C) adversely affects consumer surplus and positively affects producer surplus
(D) positively affects consumer surplus and adversely affects producer surplus
g5t AU

(A)  Guelisatdl stya Ywyarg #HA Gnesl stye Ylrarg GUR slASs
B Guelisatdl siwa g xA Gontesdl sira Ylwarg BUR Ls1nMs
(©  Guotisatrll stoset Alowdag GUR ASAS A Gewtesl siwe Ldorarg GuR

R

@ Bueisatdl sted fwarg G4 eslAuAts v Gewesdl stva Borad Gy
A5LAUSHS

AL 53 Y.

Eco.—I11 11 P.T.O.



32.

33.

34.

35.

Example of Cartel Agreement can be given by :

(A) OPEC (B) GATT

(C) WTO D) IMF

sida s Gels 3

(&) il . ; (B) ou2

© soey d i D) S AU A&

IR BRI

The removal of country’s international trade barriers would mean :

(A) Liberalization (B) Privatisation

(C) Globalisation {D) \All of these

AIA UMY AR wr-L Qe g sl 21 ¢

(A) Gellsw (B) -liws

©) aABaswy D) 21 U4 damy

w9,

The gross barter terms of trade is defined as :

) Import Quant?ty Index «100 (B) Export Quant?ty Index < 100
Export Quantity Index Import Quantity Index

© Export Pr?ce Index < 100 Import Pr?ce Index « 100
Import Price Index Export Price Index

As g ARRY carwl adidl v
-l Al 2is (Risiirl el viis

) T X 1000 () , ———— X 100

(sl o2l s UYLt AL LS
R Bud-l 2tis Al BHdAl 21is

© S X 100 (D) — X 100
dld BHdrl g (s Buasl s

gL B 19,

The empirical verification of the theory of comparative cost advantage was
first attempted by :

(A)  G.D.A. MacDougal (B) Bela Balassa

(C)  Haberler (D) J. 8. Mill

qarttets WA dioti Rgiadl ugooas asiaell Al way e
(&) .8l HsgAavl (B) Aldl iU

¢y evlzaza D) .o, Hlan

53] wdl.
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36. Metzler paradox invalidates :
(A) Stolper-Samuelson theorem (B) Heckscher-Ohlin theorem
(C) Rybczynski theorem (D) Harrod-Domar theorem
Al [Qiae ¢
(A) WEM — Ayaud ARy (B) dsu — wlledld udy
(©  Nofl=Sl — udy (D) &3S — Sl UHA
4 21uHuBd 53 8.
37. The Reserve Bank of India by its 1999 Monetary Policy :
(A) increased CRR to 11 per cent (B) reduced CRR to 10 per cent
(C) Did not change CRR {D) None of these
e M And ds wis Shsu A d-l aaa sl -
(&) CRR 4 aatdl 11% sl (B) CRR "ald 10% sul
(C) CRR siSuat 38R sl <l (D) 2wniell Asum «if3
38. Gross domestic investment in India in late 1990’s was around :
(A) 19 per cent (B) 22 per cent
(C) 15 per cent (D) 25 per cent
O L Elusil WAl aMlH usa udg St AUS@ @A ¢
(A) 19 28t (B) 22 25
(Cy 15 es (D) 25 2%l
ed.
39. Prof. Sukhomoy Chakravarty evolved a model for the Fifth Five Year Plan
that :
(A) was based on Harrod-Domar type of models
(B) integrated models of Harrod-Domar type and the Leontief Input-Output
system,
(C) was based on Mahalanobis model
(D) was based on Linear Programming System
Wi, yuliia asadl® widl daadly dioeu 1 suly widd :
(A) USSR Fal WS BU R ¢
B) &Us-5iM2 v dixtidlst sudd Fola-dl welartid anlad wBoe w
wiafRa eg
(C)  Hald-iBR Hidd Gu 2»iaufid sd
@ yiw vl ugla Gu 2wwlka ed
Eco.—I1 13 P.T.O.



40.

41.

42,

43.

Securitisation and Reconstruction of Financial Assets and Enforcement of
Security Interest Act 2002 : |

(A) Facilitates the recovery of non-performing assets of banks

(B) Provides guarantee of recovery for advances of banks

(C) Provides guarantee to borrower for lending from banks

(D) Facilitates RBI in framing their monetary and credit policy

A sy 2ERad 2N g5 118 s1S-UllUa AA2 %A AR~ 2lig Asuiél
$rae s 2002 :

(A) sl sdARa sAMAA] aydia A Al 8

B) s Rt ayatddl vuell 20

(C) 8l d-urA olsuifl Auadl wiell 200 8

M) RBI A a-ll xas x4 wuiAllan asami qee3y wy ©

The terms of trade of agricultural commodities in India in the last decade:

(A) has improved (B) has deteriorated

(C) has remaind constant (D) has experienced large fluctuations
Beatt tlusHi oudul 5B axgiil el adiil ¢

(A) YA 2l D (B) a-fa ad & |
© [Rar W€l 8 D) M2l Wl Guz YsBd Adedl &

The Kisan Credit Card Scheme was introduced in 1998-99 to facilitate :
(A) access to short-term credit by farmers

(B) access to long-term credit by farmers

(C) access to credit by marginal farmers

D) all of the above

Baud #8612 5181 disrl 1998-99 Wi -

(A)  wgeia gsnoudl v (B) uigdin aisuonou-l

(C) Aid Wgdin ww D) GU WHWAL S

Hoadr HI2 HEE3YU 524l slvd seiui sudl.

The share of service sector in GDP in India in 2001 was :

(A)y 49% B 30%

C) 25% D 20%

oy ddl Asn 43 Geueiii Ausx-l S1 AR 2001 ui :
(A)  49% B) 30%

(C) 25% D) 20%

8.

Eco.—II 14




If sum of the pfoduct of deviations of X and Y series from thier means i.e.

44,
| Xxy is zero, the coefficient of correlation shall be :
A +1 B -1
) o ) (D) None of these
9 X ua Y Asfiating il wess (Buddfl Raddr deidasdl wudl 2ed
3 Sxy g Sy dl Aerloiy dis -
(A +1 B -1
C o© D) wHidl A5y
6,
45. In Binomial Distribution mean is equal to 10 and standard deviation is equal
to 2, g will be :
A o B 1
(C) 0.2 D) 04
udl fadal was 10 vl Wl [Qadad 2 8 dl g -
4 0 B) 1
(C) 0.2 (D) 0.4
s, -
46. Fisher’s ideal index is :
(A) Arithmetic mean of Laspeyre’s and Paasche’s index
(B) Median of Laspeyre and Paasche index
(C) Geometric mean of Laspeyre and Paasche index
(D) None of the above
Qi 2ted Yasis :
(A)  GRUD A WAL YAUSVESAL AHIAR HAS ©
(B) ARUY v WAL JASAISIHAL R ©
(C) ARl 2 WAL JASHisiAL QRIAR Hes 8
O Guidl vsya AR
47. To test the significance of coefficient of correlation, one has to use :
(A)  Al-test (B) t-test
(C)  z-test D) F-test
Aeoiy Aqaisdl welserr udaw w2
(A} A*test (B} t-test
{C) z-test (D) F-test
-t Guuid 534t ASHL. |
Eco.—11 15 P.T.O.



48.

49.
|
|
|
|
|
I

20.

Suppose that we know the height of a student but do not know her weight.
We use an estimated equation to determine an estimate of her weight based
on her height. We can therefore summarise that :

(A) Weight is an independent variable

{B) Height is a dependent variable

(C) Relationship between height and weight is inverse

(D) None of the above

arxl 3 2uell WA [andldl Gaus-Il lfkdl 6. uid dd aw el <. vl
Ar a%t ot 2 d-l Gudl Rl Guell viewwd Wwsw-l Guaial s3AR
¢lat, el ddl aria A w3 o

(A) 4% Aol yaAv

B) Gud 2waRd advy @

(©)  a%-t A G a2l Aelw v &

D) il s Al

Assume that AZ test is to be performed on a contingency table with four rows
and four columns. How many degrees of freedom should be used ?

A) 16 (B) 8

G 9 D) 6

A 3 AW 28 g2 A Gell sa 5=l 2| GUR A2 test sRUAL B.
db anl 32dl adaidill Hew auud?

(A 16 (B) 8

e 9 ) 6

With the lower level of significance, the probability of rejecting a null hypothesis
that is actually true :

(A) decreases {B) increases

(C) remain uncharged (D) All of these

Al 2t Gusll welscill 08, Wl g yRed Asiadl eua- :
A w9 ' (B) a8 &

© 8 3w adi -l D) AL sy

Eco.—II 16
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